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SECTION-A
i) General Awareness

1. The first month of the Indian National 6. Who was also known as the Mahatma's
calendar is (Mahatma Gandhi) southern warrior?
(A) Kartika (A) C. Rajagopalachari
(B) Chaitra (B) Subramanya Bharathi
(C) Ashwin (C) V. O. Chidambaram Pillai
(0) None of the above (0) None of the above

2. Which of the following language given 7. Bhupen Hazarika has recently conferred
below is the official language of the with Bharata Ratnaaward Posthumously.
Union of India? Bhupen Hazarika was a
(A) Kannada (A) Legendary Hockey player
(B) Konkani (B) Legendary Singer

(C) Hindi (C) Legendary Cricketer

(0) None of the above (0) None of the above

3. Gandhi Jayanti is celebrated every 8. Ranthambore National Park is located
year on in the State of

(A) so- January (A) West Bengal

(B) 2nd March (B) Madhya Pradesh

(C) 2nd October (C) Rajasthan

(0) None of the above (0) None of the above

4. What is the full form of "BHIM" which is 9. What are the names of two Indian

mobile payment app developed by the research stations situated at

National Payment Corporation of India, Antarctica to study and investigate the

based on the unified payment interface? polar processes and phenomenon?

(A) Bharat Interface for Money (A) Maitri and Bharati

(B) 8harat Intermediate for Money (8) Boopathy and Himadri

(C) Bharat Institution for Money (C) Rajatadri and Sahyadri

(0) None of the above
(0) None of the above

5. Where is the Headquarters of the United
10. Which of the following Satellite

Nations situated ?
Launch Vehicle (SLV) is used to

(A) Geneva
launch the Chandrayaan-2 by ISRO ?
(A) GSLV Mk-1I1

(8) New York (8) PSLV
(C) Johannesburg (C) RLV-TO
(0) Tokyo (0) None of the above
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cqm-31
i) ft 1t11~ 'J'i14Chltl

1. ~ ~ 1:r~ilPfiT ~ ~ t 6. fcnB ~ (q~lC"q Illim) ~ ~PJUft<ir.&r ~
(A) Cf)lfdCf) ;rrq~ m ~ ~ t ?
(8) ~ (A) m. (j\jllnqlftlilltl
(C) ~ (8) ~~qollq m«ft
(
D) -q~~-d¥ (C) eft.~. ~cici1{q ~rqef1~I~

~ Cf)1~'1t\1 (D) ~-q~~-;nft

2. RqRif@d -q~~-m ~ ~~cfiT
~t?
(A) ~
(8) chlCf)oft

(C) ~
(D) ~-q~~-;nft

3. 1lim ~ >rm ~ cnTIf.Wfi ~ t I

(A) 30~

(8) 2~

(C) 2~
(D) ~-q~~-;nft

4. "~" CfiTW«'IIRd ~~t it Q;chl<fld~
~ ~ 3lTm\ lR ~ ~ u$WT<fR Wll1
"[ffi WCfirod 41CSlI~i:1~~% ?
(A) ~ ~c(q.;ft ~ If.fT
(8) ~ ~c{l"fts')Q;c ~ If.fT
(C) ~ ~ffi~H ~ If.fT
(D) "3CRf -q U~;rtf

5. <fl1~U~<:fiT t!&llftll ~~t?
(A) ~
(8) ~
(C) ~11~1'"'8ci1Jl
(D) i1fCn41
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7. ~ ~'{i1If{Cf)1cnTmft'm-q q{Onq{id 'ql«f
~ ~ fcn<n ll<:fT t I ~ ~'{i1lf{Cf)1~
____ ~I

(A) ~~ f@ftl~
(8) ~~
(C) ~ GnCtlc/
(D) ~-q~~-;nft

8. ~~~1:fTCFi ~-q~t I

(A) ~~
(8) 11~~
(C) ~
(D) ~-q~~-;nft

9. ~ ~3TI 3fu:qf{t:l6il <:fiT~ 3fu:
~ CfiG~ ~ 3i2]chRCf) -q ~ Gl ~
~~~;rrq~t?
(A) ~3fu:m@
(8) ~3fu:~
(C) {1'JIdls{) 3fu:~
(D) ~-q~~-;nft

10. ~IDU~-2cnT>r~CfiG~~
RqRif@d -q~fcnB~>r~~ (SLV)
<:fiT>r:Wr fcn<n ll<:fT t ?
(A) GSLV Mk-III
(8) PSLV
(C) RLV-TD
(D) ~-q~~-;nft
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11. Which of the following space agency 16. Which of the following bank recently
has launched the Magnetospheric became the second largest state-owned
Multiscale Mission? lender after merging Dena Bank and
(A) NASA Vijaya Bank into itself?
(B) ISRO (A) Bank of Maharashtra
(C) European Space Agency (B) Bank of Baroda
(D) None of the above (C) State Bank of India

12. Which of the following institution of (D) None of the above
Government of India has been replaced
the Planning Commission? 17. Which of the following gap is the most
(A) NITI Aayog prominent gap in the Westem Ghat which

(B) CPWD connects Tamil Nadu and Kerala ?

(C) Interstate Council (A) Palghat gap

(D) None of the above (B) Bhorghat gap

13. What is GDP stands for in terms of
(C) Thalghat gap

economics? (D) None of the above

(A) Gross Domestic Product 18. The Experimental Geothermal Energy
(B) Gross Development Product Power Plant at Manikaran is in the
(C) Gross Dividend Product State of
(D) None of the above (A) Himachal Pradesh

14. Which of the following Government (B) Sikkim
organization publishes the Index of (C) Arunachal Pradesh
Industrial Production (liP) ? (D) None of the above
(A) Central Statistical Organization

(CSO) 19. What is the insecticide DOT stands for?
(B) Labour Bureau (A) Dichlorodivenyltrichloromethane
(C) Office of the Economic Adviser (B) Dichlorodiphenyltrichloroethane
(D) None of the above (C) Diaminodiphenyltrichloroethane

15. Paramparagat Krishi Vikas Yojana aims (D) None of the above
to promote the

20. Vitamin B2 is also called as(A) Cereal crops production in the
country (A) Riboflavin

(B) Organic farming in the country (B) Niacin
(C) Drip irrigation in the country (C) Folic acid
(D) None of the above (D) None of the above
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11. R8Rif@('1 ~B~ ~&T~~ 16. m~~~ ~fcrwn~~~~~

~J~2)flhf{Cfl A(Yi)%<1 f?m;r ~ M ~ ? R8Rif@('1 ~ B ~-m ~ ~ m ~ G:mTe-,

(A) ;nm ~ ~ ~ ~ AIRiCflH 1 ~'ClCflR CJ"Tffi

(8) ~ SbUIG1('11~ ?

(C) <0rq""H~&T~ (A) ~ 3TIq:)A~I{I~

(0) ~~B~~ (8) ~3TIq:)~

~mcFiRcfit R8Rif@('1 ~B~~~
(C) mmm~

12. (0) ~~B~~
~3WWTc8~M~?

q~q) tnG~ R8Rif@('1 ~B~-m~(A) ~3WWT 17.

(8) m.1fT.~tr.
~ ~31T~ t~('1f?l<1'"iI'{~ ~

c8~~?(C) ~('1{~I~~

(0) ~~B~~
(A) ql<1E:1IC:~

(8) ~~

13. 3l~~~~~~.tr.1fT. ~~ (C) ~1<1E:1IC:~

3lffiT ~ ? (0) ~~B~~

(A) ~~~ Ao:!1Cfl{'"i~ SlI~lj?ICfl~-~~~~18.
(8) ~fcrcfim~

~~~~?
(C) ~~~ f$AI'i:l<1~(A)
(0) ~~B~~ (8) fBFcf4lA

14. 3f1~I\TiCfl\3(GIG'"iCfiT~.qCfliCfl(liP) R8Rif@('1 (C) 3l{lUII'i:l<1~

~B~-m ~RCflI£)~ SlCflI~Id"Cfl\Cft~? (0) ~~B~~

(A) ~ fti@lcfi) ~ (CSO) 19. cfi)C:'"iI~ntr.tT.it. ~~3lffiT~ I

(8) wr~ (A) :S1~cR"i'liI:Sl~fcl'"i1~<1?1~CK11i1141~

(C) ~ ft<1I~CflI{CfiTCflI~T<1~ (8) :S1~CK1"\liI:SI~f4;'"i1~<1?I~CK1"\IU~~

(0) ~~B~~ (C) :S1~f?l"i"\I:SI~f4;'"i1~<1?1~CK11i1~~

15. q{q\lJ 1('1~ fcrcfim~CfiT (1~ (0) ~~B~~

CfiT)fqR "Cfl8T~ I fclC:If?l'"i82 c8 m~~120.

(A) ~~ ~~CfiT \3(GIG'"i (A) {1~~Cf€lfcl'"i

(8) ~~~~ (8) '"i1~fB'"i

(C) ~~~~ (C) CflTRiCfl~

(0) ~~B~~ (0) ~~B~~
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ii) General Intelligence and Reasoning Ability
21. Complete the analogy: 28. Complete the series:

Lion: Cub 7 6 14 18 21 30 28 42 35 ?
(A) Dog: Calf (A) 47 (B) 54
(B) Duck: Duckling (C) 42 (D) 59
(C) Cat: Puppy
(D) Cow: Kitten

22. Tokyo is to Japan as I?' is to Australia
(A) Sydney (B) Melbourne
(C) Canberra (D) Brussels

23. Select the pair in which the numbers are
similarly related as in the pair 2 : 32.
(A) 4: 64 (B) 5: 25
(C) 3: 243 (D) 7: 392

24. Select the word which is least like other
words in the group.
(A) Dermatology
(B) Urology
(C) Geology
(D) Pediatrics

25. Select the number which is different
from the rest three.
(A) 8 (B) 27
(C) 64 (D) 49

26. Select the group of letters which are
different from others.
(A) ADH (B) LOS
(C) GJM (D) PSW

27. Find the correct alternative for Aries,
Taurus, Gemini.
(A) Zodiac Signs
(B) Meteors
(C) Planets
(D) Asteroids

-6-

29. Find the missing letters that will complete
the series:
a_a_b __ baa_aa
(A) b a a a b b a
(B) b a b a b a b
(C) b a a b a a b
(D) a a a a b b b

30. In a certain language if 'REMOTE'
is coded as 'REMETO', then how is
'COPPER' coded?
(A) COPREP
(B) COPRPE
(C) CPOPRE
(D) COREPP

31. Pointing to a man, a woman said, "His
mother is the only daughter of my
mother". How is the woman related to
the man?
(A) Sister
(BY Mother
(C) Grand Mother
(D) Aunt

32. One morning Suraj and Aashish were
talking to each other face to face at
a crossing. If Aashish's shadow was
exactly to the left of Suraj, which
direction Suraj facing?
(A) East (B) West
(C) North (D) South
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ii) fll'41~ ~foath11 'Om HlfchCfl ~IRIHI

28. ~~~:
7 6 14 18 21 30 28 42 35 ?
(A) 47 (8) 54

(C) 42 (0) 59

21. 1811{C'\qdl~~:
~:~CfiT~
(A) '¥fT:~
(8) ~:~CfiT~
(C) ~:~
(0) 1Wl:~CfiT~

22. afCn41, ~ ~ '3ID >rcfiR~~, m
>rcfiR , 3iT~R1;q I~ ~ ~ I
(A) fus;fT (8) ~
(C) ~ (0) ~

23. Cf6 ~~~{§;qI~'3ID>rcfiR~
m, ~ >rcfiR~ 2 : 32 -q ~ I
(A) 4: 64 (8) 5: 25
(C) 3: 243 (0) 7: 392

24. Cf6 ~ ~ -m ~ -q 3V=<:f~ ~
~Cfi11~m I
(A) ~~
(8) ~~
(C) ~~
(0) iill(1~fCnct11 ~

25. Cf6B&rr~-m~cfR~i'R~ I
(A) 8 (8) 27
(C) 64 (0) 49

26. 3l~CfiTCf6~~-m~~i'R~ I
(A) AOH (8) LOS
(C) GJM (0) PSW

27. ~,Cff, ~~mft ~Ch04~ I
(A) um~
(8) ~
(C) !m
(0) ~!m

·7·

29. ~31~~~-m~cnl~~ I
a_a_b __ baa_aa

(A) b a a a b b a
(8) b a b a b a b
(C) b a a b a a b

(0) a a a a b b b

30. fcfim ~ -q 'REMOTE' cnl 'REMETO'
~ ~~, m 'COPPER' cnl~ ~
~?
(A) COPREP
(8) COPRPE
(C) CPOPRE
(0) COREPP

31. ~~~3ffi~~~~3fRa
~ Cfimfcfi "~ lffiIT mt lffiIT ~ ~Chd1eft
~~" 1Cf6~~~~~>rcfiR
~~?
(A) ~
(8) 1ffif[
(C) ~

(0) ~

32. ~ ~ ~ ~ ~ ~ ShTffPI '11{

~-Gffi ~ "iilTcfCfi'{rg ~ I ~ ~ ~e-,

-rn<n ~ ~ itcn ~~, m ~ CfiTW9
~fuTI-q ~?
(A) ~

(C) "3W

(8) ~

(0) GflW1T



IlJHit:!i~
33. Algebra, Mathematics, Sociology can

be represented by

(A)@ 0
(8) @
(C) aD
(0)000

34. In a dictionary, which of the following
word will appear third?
(A) Accept
(8) Acceptance
(C) Acceptable
(0) Acceptability

35. A group of 1200 persons consisting of
captains and soldiers is travelling in a
train. For every 15 soldiers, there is one
captain. The number of captains in the
group is
(A) 80
(C) 70

(8) 75
(0) 85

36. A father and his son decide to sum
their age. The sum is equal to sixty
years. Six years ago, the age of the
father was five times the age of the
son. Six years from now, the son's
age will be
(A) 23 years
(8) 19 years
(C) 20 years
(0) 22 years

-8-
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37. If + means -, - means X, X means +,

+ means +, then what will be the value

of 25 - 5 + 2 + 27 X 3 ?

(A) 131

(8) 132

(C) 133

(0) None of these

38. The sum of two integers is 10 and the
5

sum of their reciprocals is 12.Then the

larger of these integers is
(A) 4
(8) 6
(C) 8
(0) 2

39. Find the missing number:

27 8 6
64 ? 12
125 64 20

(A) 32
(8) 27
(C) 24
(0) 25

40. Find the missing letter:

E K A
T Z ?

L R H

(A) E
(8) N
(C) P
(0) T



33. csfl \ill IfU I(1, l'fiUr<f, ~ lOll \jj!t II'f~ IDU

~~~~I

(A) @ 0
(8) @
(C) aD
(D)OOO

34. ~ !tlillGch1~ .q~-m~cftW~1:R
~?
(A) Accept
(8) Acceptance
(C) Acceptable
(0) Acceptability

35. ~t-r.q 1200-RrTICf)T~~~CR
~t ~~3fR~t I~
15~~~~~t I~.q
~cfa~t

(A) 80 (8) 75

(C) 70 (0) 85

36. ~ fRrr 3Th: ~ ~ 31lf.ft ~ CfiT ~

Cf)T~~~ P:Wr60~3WfTt I~:~
~fRrr cfa ~ ~ cfa ~ Cf)T~:rm ~ I
~~~: ~~~cfa ~1Wft
(A) 23~

(8) 19~
(C) 20~

(0) 22~

·9·
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37. ~ + Cf)T3l~ - t -Cf)T3l~ x t x Cf)T~
+t + Cf)T~ + t, m 25 - 5 + 2 + 27 x 3
Cf)TllFPFIT t ?
(A) 131

(8) 132

(C) 133

(0) ~~~~

38. G1 ~ Cf)T<Wr 10 t ~ ~ &Ja'llil CfiT

<Wr 1~ tl m~~t

(A) 4

(8) 6

(C) 8
(0) 2

39. ~~~~:

27 8 6

64 ? 12

125 64 20

(A) 32

(8) 27
(C) 24

(0) 25

40. ~31&R~~:

E K A
T Z ?
L R H

(A) E
(8) N
(C) P
(0) T
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iii) Arithmetical and Numerical Ability

41. The general solution of the differential 1

equation dy = eX+Yis 45. fx 17 6cos x dx=
dx -1

(A) eX+ eY = c (A) 171t (8) 21t
(8) e-X+ eY = c
(C) e-X+ e-Y = c (C) 0 (0)

171t
-

(0) eX+ e-Y = c
2

42. A and 8 can complete a work in 12 days,
46. If 3x = 5Y = 15z, then xy - yz - zx =

8 and C can complete the same work
(A) -3 (8) -1

in 18 days and C and A do the same (C) 0 (0) 1
work in 14 days. The number of days 47. If a and ~ are the roots of the equationrequired to complete the same work if
A, 8 and C work together is ' 2X2- 7x + 3 = 0, then a2 + ~2=
(A) 10 days (A) 37--

504
4

(8) 53 days (8)
37-

360
4

(C) 37 days (C) 0

(0) None of these
(0) None of these

43. If 10 notebooks are purchased at the rate
48. A number consists of 2 digits and whose

of Rs. 7 per notebook and 15 notebooks sum is 3. If 9 is added to the number, the

at the rate of Rs. 12 per notebook. The digits get interchanged. The number is
average price of notebooks is (A) 30
(A) Rs. 19 (8) 21
(8) Rs.9.5 (C) 12
(C) Rs.10
(0) None of these

(0) None of these

44. The integrating factor of the differential f(X-3)e
X

d _

equation (x + y) dy = 1 is
49. 3 x-

(x -1)
dx xx

(A) eY (A)
e -e

2 +c· (8) +c

(8) e-Y
(x -1) (x _1)2

(C)
x x

-y (C) -e
(0)

e
--+c +c

(0) e-X
(x -1) (x _1)3

-10-
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41. ~ {14lCfi(OI dy = eX+Y Cf)f {1llOllt=ll
~t dx

(A) eX + eY = c
(B) e-X + eY = c
(C) e-X + e-Y = c
(0) eX + e-Y = c

42. A ~ B ~cwfcn112 K-n-ij~~~
~, B~C~cwfcn118K-n-ijomc~
A ~cwfcn114 K-n-ij~~~ I ~ A,

B ~ C ~ flI~Cfi( CfiT<f cnm~, m fcmR 47.
w.rr -ij~ CfiT<f w men t ?
(A) 10~
(B) 504 ~

53
(C) 360 ~

37
(0) ~~~~

43. ~ 10 '1jc:~Cfi >rffi'11C:~Cfi7 ~. ~ G( ~ ~

~~15.12~.>rffi. ~G(

~ ~~, m '11C:~CfiCfiT ~ ~ t
(A) ~. 19
(B) ~. 9.5
(C) ~. 10
(0) ~~~~

44. ~ {141Cfi(ol (x + y) dy = 1Cf)f {1lOlICfi~"i
~t dx

(A) eY

(B) e-Y

(C) -y

(0) e-X

·11·

1

45. J X
17 cos'x dx =

-1

(A) 171t (B) 21t

171t
(0) 2(C) 0

46. ~ 3X= 5Y = 15z t,m xy - yz - zx =

(A) -3
(C) 0

(B) -1

(0) 1

~ a ~ ~ wftCfi(OI 2X2 - 7x + 3 = 0 ~~

t ma2 + ~2 =

(A) _ 37
4

(B) 37
4

(C) 0

(0) ~~~~

48. ~~~ ~~~~ ~~1.IliT
3t 1~"3B~-ij9~~~, m~
3lTtffi-ij~~~ I~~t
(A) 30
(B) 21
(C) 12
(0) ~~~~

J (x - 3)~Xdx =49.
(x -1)

xe
(A) 2 + c

(x -1)

x-e
(B) (x _1)2 + c

x-e
(C) (x -1) + c

xe
(0) 3 + c

(x -1)



m
50. Mr. Bean deposits Rs. 10,000 at 8%

simple interest for 5 years. The amount
he receives at the end of 5 years is
(A) Rs. 18,000 (8) Rs. 12,000
(C) Rs. 14,000 (0) None of these

51. If a leap year is selected at random,
then the probability that it will contain 53
Thursdays is

1
(A) 7

(C) 3
7

(8) 2
7

(0) None of these

52. If the perimeter and area of a circle are
equal, then radius of the circle is

(A) 1 unit (8) ~ unit

(C) 2 units (0) 4 units

53. The area of a triangle formed by the

points A(- ~, 3),8(6, -2) and

C(-3, 4) is
(A) 10 sq. units (8) 0 sq. units
(C) 15 sq. units (0) None of these

54. Value of 1+ cot: 45° is
1+ tan 45°

(A) sin 90°
(C) sin 45°

(8) cas 90°
(0) cos245°

4
55. If tan A = -,0 < A < 90°, then see-A =

3
16

(A) 9

(C) 25
9

25
(8) 16

(0) None of these

-12-
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56. From the top of a light house, 120
feet above the sea level, the angle
of depression of a boat is 60°. The
distance between the light house and
the boat is
(A) 60 feet

(8) 40.J3 feet
40

(C) .J3 feet

(0) None of these

57. The 20th term from the last term (end) of
the A.P. : 3, 8, 13, .... ,253 is
(A) 158 (8) 153
(C) 103 (0) None of these

58. The sum of first 8 multiples of 8 is
(A) 200 (8) 248
(C) 288 (0) 302

59. A train travels 360 km at a uniform
speed. If the speed had been 5 km/hr
more, it would have taken 1 hour less
for the same journey. The speed of
the train is
(A) 50 km/hr
(8) 40 km/hr
(C) 45 km/hr
(0) 80 km/hr

60. If P(A) = ~, P(8) = ~ , then P(A (J 8),

given A and 8 are independent events
of a random experiment is

1 3
(A) 5 (8) 25

1
(0) 25(C) 17

25
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50. ~"$r 5 crt~~ 8% ~~~1R 56. ~(K1-B 120~~~~6m1~
~. 10,000~~~ 15~~~-ij~ ~-B~-;nqCfiT~cnTur600t I~
>ITC<fumt 6m1 3fu: -;nq~ ~:~rGttte-,
(A) ~. 18,000 (8) ~. 12,000 (A) 60~
(C) ~. 14,000 (0) ~-B~-;fflf

(8) 40.J3 ~
51. ~ ~ "ffiq crt q;) tll~R0Cfi ~ -Bwn 40 ~(C)

~t, m~qm SlIf4Cfidltfcn~ .J3
53~~? (0) ~-B~-;fflf

1 2 57. ~~3, 8,13, .... , 253~~11G-B(A) - (8) -
20 cn11Gt7 7

(C)
3 (D) ~ -B~-;fflf (A) 158 (8) 153-
7 (C) 103 (0) ~-B~-;fflf

52. ~~~cfit~ 3fu: ~~~, m
8~>T~8~CfiT~t

~cfit~t
58.

(A) 200 (8) 248
(A) 1~ (8) !~ (C) 288 (0) 302

2
(C) 2 ~Cfil~tli (0) 4 ~Cfil~tli ~ {<.11114)~ ~ TTfu360 fcfilft -B~59.

~ A( - ~, 3),8(6, -2) 3fu: C(-3, 4) IDU
t I ~ TTfu5 fcfilft /U:cJ ~~, m ~

53. (ff;D ~ ~ 1 U:cJ em WRIT I {<.11114)cfit

~~~CfiT~t TTfut

(A) 10 crt ~Cfil~tli (8) Ocrt~ (A) 50 fcfitft/tW

(C) 15 crt ~Cfil~tli (0) ~-B~-;fflf (8) 40 fcfitft/tW

1+ cof 45° CfiTllH t
(C) 45 fcfitft/tW

54.
1+ tarr' 45° (0) 80 fcfitft/tW

(A) sin 90° (8) cas 90°
~ P(A) = 3, P(8) = !,m P(A (l 8),(C) sin 45° (0) cas245° 60.

5 5

4 ~ A q 8 ~ tll~R'~Cfi >rirT cfit ~
55. ~ tan A = -,0 < A < 900t msec2A =

~~3

(A)
16

(8)
25 1 3- - (A) - (8) -

9 16 5 25

25 (0) ~-B~-;fflf 17 1
(C) - (C) - (0) -

9 25 25

-13-
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iv) Hindi Language and Comprehension
~\1NT~-anu

61. '~~\ft~~~~ 1'~CJm-ij 66. '3'1I'8Lil"i1R~ I' ~pCfiT ~~
'8cf"iILi~ (A) ~~Cf1GT
(A) ~ (8) \jfR'-~ ~Cf1GT
(8) ~ (C) ~~~
(C) ~ (0) 3N-fi ~ iiffi ~ WIT

(0) ~ ~ -ij' , mr~"'67. CJm ~ ~ q;y~It:t01

62. ~~~fRfq~ ~ ~-ij"S3'Il ~ ?

(A) ~ (A) wR ~ fcf;m ~ 3'Il ~ 1

(8) ~ (8) ~~~~~I
(C) WR (C) ~,Wit:R~3'Il1

(0) ~ (0) ~~~~

63. '!lIM~' q;y -mtl ~~G ~ ~CJm~168.

(A) ~ + 3lS\ (A) ~~110~ 1

(8) ~+~ (8) ~cit11O~ 1

(C) ~+~ (C) ~110~ 1

(0) ~+~ (0) ~110~ 1

64. '1TIif~ma~Cft:tf~~I'~~~ 69. '~~3'I"fi~~~ 1'~CJm~

q;yCJm~ ? ~-ij~ ?

(A) ~CJm (A) ~ctJLiH~

(8) ~CJm (8) 31R=F{'W~
(C) M~CJm (C) '8ILiI~ ctJLiH~

(0) m'QRUTCJm (0) ~~

65. 'WIT' q;y ~fWr~~ 70. '~' CfiT~~~~~?

(A) Wf (A) fu~
(8) wft (8) m&fi

(C) .~ (C) "'81!fi

(0) ~""i1ft (0) ~~

-14-
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71. ~~~I 75.
,
~~~~mrtT I'~~-q

3l. 1WR Cli. ~ ~-m~~?

3lT. !JTli ~.~ (A) Cfi1f~

~.~ TT. ~ (8)~~
""tWRl -q. a.ftuT (C) Cfi\UT~

3l 3nl l (0) cmrr~

(A) ~ Cli -q TT 76. '~' ~ ~ >rcnRCfiT~cf'"i IJi ~ ?

(8) ~ TT -q Cli (A) ~~

(C) ~ -q Cli TT (8) lf~~ -
\

(0) Cli ~ TT -q (C) ~~

72. ~~ 4i'l~l!\ I (0) cnW~
3l. lRf Cli. ~ 77. fsnm CfiT~ ~ ~ GiGfI(1I ~ ?

3lT. 31ftr ~. 3lTlRf (A) q.q;f

~. "3!T TT. CfSfi (8) fWr

t~ -q. ~ (C) ~

3f 3nl l (0) ~-aRl

(A) ~ -q Cli TT 78. cffll1f.Pliffi ~ ~ ~ ~ ?

(8) ~ Cli tl TT (A) 2 (8) 4

(C) ~ -q TT Cli
(C) 3 (0) 5

(0) Cli TT -q ~ 79. '~' ~ CfiTGi§q~'"i ~ I

73. '"5fflR-~' ~CfiT~ 3N~ (A) ~

(A) 3iIShJiOI-~ (8) ~

(C) ~(8) ~-\8JT Cfi8T
(0) cnW~

(C) lfI'8T-(ilIJHI

(0) 3«fl'$'"i-~ 80. ~~>rcnR~m~ ?

74. ' 'cfiT .~ (A) 3
~ ~ \ilqql~Cfl~

(8) 4
(A) ~'ii1lqc (8) ~ (C) 5
(C) wm (0) ~ (0) 2

-15-
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v) English Language and Comprehension
~tmn~~

Add suitable question tags to the following
Fill in the blanks in the following sentences with statements from among the choices given
the appropriate prepositions from among the below them.
choices given below them.

90. Mahima hankers after a life of leisure,
_____ you? ?

(A) does she
(8) doesn't she
(C) is she
(0) was she

Fill in the blanks in the following sentences
using the appropriate articles from among
the choices given below them.

81. The lady is LlC Agent.
(A) a
(8) an
(C) of
(0) none of these

82. Antony called Cleopatra the serpent of
_____ Nile.
(A) a
(8) an
(C) the
(0) no article required

83. Robinson is European.
(A) a
(8) an
(C) the
(0) no article required

84. I sat the fire.
(A) beside
(8) besides
(C) across
(0) among

85. What can I do
(A) by
(8) between
(C) from
(0) for

-16-

86. She read about it the
newspaper.
(A) at
(C) in

(8) on
(0) across

Fill up each blank with a suitable adjective
from among the choices given below each
sentence.

87. The two boys hit _
(A) each other
(8) one another
(C) any
(0) none of these

88. He spent only money on
himself.
(A) few
(8) a little
(C) many
(0) any

89. We aren't immortal, ?
(A) aren't we
(8) were we
(C) isn't it
(0) are we



Three of the four words given below are
spelt wrongly. Select the word that is spelt
correctly.

91. (A) Acquintence
(8) Acquaintence
(C) Acquaintance
(0) Acquintance

92. (A) Neglegense
(8) Negligence
(C) Negligance
(0) Neglingense

Fill in the blanks with the appropriate forms of
the verbs given in brackets.

MKG-XXIVITECHINTD/1 T/02

96. I am so busy that 1 have time
to study.
(A) nearly
(8) almost
(C) hardly
(0) simply

Select from among the choices, the word that
is similar (synonymous) in meaning to the
question word.

97. Orthodox
(A) Heterodox
(8) Traditional
(C) Creative
(0) Ugly

Saintly
(A) Unholy
(8) Profane
(C) Argumentative
(0) Heavenly

93. Each one of them given a
prize yesterday. (form of 'be')
(A) is 98.
(8) are
(C) were
(0) was

94. I am a person who in calling
a spade a spade. (believe)
(A) believe
(8) had believed
(C) believes
(0) have believe

Pick out the most effective word from the given
words to fill in the blank to make the sentence
meaningfully complete.

95. Your business won't make profits
_____ you advertise more.
(A) unless
(8) and
(C) but
(0) should

-17-

Select the word that is opposite in meaning
(antonym) to the word given in the question.

99. Synthesis
(A) Arrangement
(8) Analysis
(C) Organisation
(0) Combination

100. Antique
(A) Junky
(8) Stylish
(C) Costly
(0) Modern
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SECTION-B
Post Specific Subject - Related Questions

101. The technology by which a process
or procedure is accomplished without
human assistance is called
(A) Annotation
(B) Autocad
(C) Automation
(D) Analog

102. Which of the cutting tool is used to
generate a plane surface?
(A) Flaring tool
(B) Parting tool
(C) Single point cutting tool
(D) Multipoint cutting tool

103. Multiple tooth cutting operation with
the tool reciprocating, similar to sawing
operation is called
(A) Broaching
(B) Boring
(C) Drilling
(D) Knurling

104. The usual lip angle is an included angle
of the drill which is found suitable for mild
steel and other general materials is
(A) 1180 (B) 1080

(C) 880 (D) 1280

105. A flat nosed tool would plunge cut the
work piece with a feed in the direction
perpendicular to the axis of revolution.
This operation is generally carried out
for cutting off the part from the parent
materials.
(A) drilling (B) parting
(C) knurling (D) boring

-18-

106. It is a linear roller bearing, which gives
endless linear rolling circulation
(A) Tychoway
(B) Thrust Ball Bearings
(C) Spherical Roller Bearings
(D) Cylindrical Roller Bearings

107. It is defined as the amount of heat
required to raise the temperature of a
unit mass of any substance through one
degree.
(A) internal energy
(B) thermal quantity
(C) heat work
(D) specific heat

108. states that an object will remain
at rest or in uniform motion in a straight
line unless acted upon by an external
force.
(A) Newton's first law of motion
(B) Newton's third law of motion
(C) Newton's second law of motion
(D) Newton's fourth law of motion

109. The Diesel cycle was devised by
Dr. Rudolph in the year
(A) 1893 (B) 1892
(C) 1891 (D) 1894

110. The standard value of atmospheric
pressure is at sea level.
(A) 716 mmHg
(B) 761 mmHg
(C) 760 mmHg
(D) 706 mmHg
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cqytT-'al
~~~fQ:iCfi~-~UT~

101. ~ dCfloftCfl~ IDU~ ~ m lfRCf
e~14dl ~~~~fn1cl~ijtt I
(A) Q\-11aH
(8) ~1l)C\;s
(C) ~lil~~I01

(0) Q\'1k11JI

102. ~-m~ 3qCfl{OI~~1fiO 3«IIRd
Cfi8~~~mmt ?
(A) ~ 3qCfl{OI
(8) 'Y'Tfm 3QCfl{OI

(C) ~~~3QCfl{OI
(0) ~ ~ 3QCfl{OI

103. ~~~~ 3QCfl{OI<XjfSfili~M~
3fR~~~~WfR~mmt

Cfl~EildI t I----
(A) ~
(8) ~
(C) Qf{~~'1 (~I#iJI)
(0) ~

104. ~ ellil~ ~citur~ Qf{~'1 (~) Cf;T
~ efUl~d citurt ~~~~ 3lR: 3V<r
ellil~ ~~~ 3QgCffl~

(A) 1180 (8) 1080

(C) 880 (0) 1280

105. QftfAol ~~~~-ij~ ~~~
~ cffi~ elidEi '11~CflI ~ 3QCfl{OI
~Ci)Jl'Cfl{dlt I~ ellil~d: l@~~
~~~fcmT~tl

(A) ~ (8) ~

(C) ~ (0) ~

·19·
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106. ~~~"itffi~t ~~~
"UfWrmrrt

(A) cl~ci)~
(8) w:<:~~
(C) JnEiICflR"itffi ~

(0) ~Ei'1ICflR"itffi ~

107. ~M'~~~~ s;,OllliHCf;TdlQlil'1
~fuft~~~~~~~-ij
~M~t
(A) ~~
(8) ~lffiIT
(C) ~cwf
(0) ~~Itil~

108. ~tfcn~~JIRt~'1~
<:ITWfR TTffi~ ~ ~ 00 -ij~ ~ W-h
fcn~1l{~~~~~~ I

(A) ~ Cf;TTTffiCf;T~ ~
(8) ~ cnr TTfficnr <fR:m ~
(C) ~cnrTTfficnr~~
(0) ~ cnr TTffiCf;TT.iWr~

109. ~~cnr ~1~&;flR~. ~IDUcrf
____ -ijfcfim lFIT I

(A) 1893 (8) 1892

(C) 1891 (0) 1894

11O. ~"(K11l{ lfR"Cfl q Ig~:gcll4 ~ _ t I

(A) 716 mmHg

(8) 761 mmHg

(C) 760 mmHg

(0) 706 mmHg
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111. The law which states that the absolute 116. The factor of safety for steel at a steady
pressure of a given mass of a perfect load is
gas varies inversely as its volume, when (A) 10
the temperature remains constant is

(B) 8
(A) Boyle's law

(C) 6(B) Gay-Lussac's law
(C) Joule's law (0) 4

(0) Pascal's law 117. The energy possessed by a body for

112. The hyperbolic process is based on doing work, by virtue of its position is

which law? called

(A) Newton's law (A) kinetic energy

(B) Joule's law (B) chemical energy

(C) Boyle's law (C) potential energy

(0) Charle's law (0) dynamic energy

113. The transverse fillet welded joints are 118. The relation between the pitch of the
designed for chain (p) and the pitch circle diameter
(A) shear strength (d) is given by

(B) yield strength (A) P = d sin (60fT)
(C) compressive strength (B) p = d sin (90fT)
(0) tensile strength (C) p = d sin (120fT)

114. When equal bevel gears having equal
(0) p = d sin (180fT)

teeth and pitch angles connects two 119. The two parallel and coplanar shafts
shafts whose axes intersect at right connected by the gear and the
angle, they are known as arrangements is known as
(A) Mitre gears

(A) spur gearing
(B) Angular bevel gears

(B) helical gearing
(C) Internal bevel gear
(0) Crown bevel gear (C) bevel gearing

(0) spiral gearing
115. The law states that when a

material is loaded within elastic limit 120. It is an imaginary circle which by pure
then stress is directly proportional to rolling action would give the same
strain. motion as the actual gear
(A) Ohm's law (A) diametral circle
(B) Boyle's law (B) dedendem circle
(C) Hook's law (C) addendum circle
(0) Charle's law (0) pitch circle

-20-
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111. Cf6~~~-%fcn\j\Gf dlqJOtH ~m

m~ ~~~~~ ~04JOtHq)Tma:r
~ ~ 3W«R ~ ~($f)JOtIjq l<ft itm -%I
(A) ~q)T~
(8) It-wrrcnq)T~
(C) ~q)T~
(0). qlfCf)(1 q)T~

112. 3'lmQ{q(1filCfi ~ fcFiB ~ 'R
3lTmfuf-% ?
(A) ~q)T~
(8) ~q)T~
(C) ~q)T~
(0) ~q)T~

113. ~~~~~ _
~~~-%I
(A) ~~

(8) J("ql~'"i~
(C) ~~
(0) (f.R~

114. \j\Gf UJOtR ~ 3fu:m Cfi1uT~ ~ iTr<:n:
~ wm cn1 ~ ~ ~ ~ cn1 BJOtch)01'R
$Im~~ ~~, Cfit\(1ld ~I
(A) ~fil<n:
(8) Cfilufm -m fil<n:
(C) ~-mfil<n:
(0) ~-mfil<n:

115. ~ ~ ~ -%fcn \j\Gf~ l:f<n~~ -wn
B mfuf itm -%,m $Imcil(1 ~ ~ ~a:r
BJOtljQI<ft itm-%
(A) ~q)T~
(8) ~q)T~
(C) scnq)T~
(0) ~q)T~

-21-
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116. ~W-R 'iffi'R~~~wan~~
(A) 10
(8) 8
(C) 6
(0) 4

117. ~~~cwf~~CWJT~~
____ Cfit\(1I<ft -% I

(A) ~~

(8) {lBI~RCfi ~

(C) ~~

(0) Jlm~ft(1 ~

118. ~~m(p)3fu:m~
<Xffi1 (d) ~~~-% I

(A) p = d sin (60fT)

(8) P = d sin (90fT)

(C) P = d sin (120fT)

(0) P = d sin (180fT)

119. iTr<:n:IDU ~Gl BJOtHid{ 3fu:BJOtdcl)~ ~

3fu:~~ Cfit\(1ld ~ I

(A) ~ f1l~f{JI

(8) ~:gk1d f1l~ f{J 1

(C) ~ f1l~f»1

(0) fYl~{(1 f?1~f{JI

120. ~ CfiI<"YRCfi~ -% ~ IDU ~ UfWT cwf
Cf6 rffif ~ ~ q 1«1~Cfi fil<n:~ -%

(A) 041«1~ ~

(8) ~~
(C) 31Wr~

(0) m~
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121. The height of a Watt's Governor (in 126. The formula to find the volume of a
meters) is sphere is
(A) 895/N2 (A) V = 2/37l'r2
(B) 89.5/N2 (B) V = 3/47l'r2
(C) 8.95/N2 (C) V = 4/37l'rJ
(D) 8950/N2 (D) V = 2/47l'r2

122. The first stage in progress of 127. The ratio of weight density of a fluid to
transformation of buried vegetation the weight density of a standard fuel isinto coal is called

defined as
(A) Bituminous coal

(A) Viscosity
(B) Anthracitic coal
(C) Peat coal (B) Specific gravity

(D) Sub-bituminous coal (C) Density
(D) Pascal's law

123. The naturally occurring porous rock
formations are also suitable for air 128. It states that the pressure or intensity
storage and have been used for of pressure at a point in a static fluid is
natural gas storage equal in all direction
(A) Aquifers (A) Ohm's law
(B) Aquaries (8) Lenz's law
(C) Aquajal (C) Pascal's law
(D) Aquaheir (D) Faraday's law

124. In engineering drawing lettering practice 129. The hydraulic machine which converts
the space between the word is hydraulic energy into mechanical
(A) W or 1/5 h energy is called as
(B) M or 3/5 h (A) rotor
(C) Nor 2/5 h (B) stator
(D) Y or 4/5 h (C) impeller

125. The Diesel cycle was an important cycle (D) turbine
on which all the diesel engines works, as

In engineering drawing, the formula toit receives heat at a constant pressure 130.
so it is also called as find the width across the flat surfaces is

-

(A)--constant pressu re cycle (A) W = 1.50 + 5 mm
(B) constant volume cycle (B) W= 1.50 +4 mm
(C) constant air cycle (C) W = 1.50 + 3 mm
(D) . none of the above (D) W= 1.50+2 mm

-22-
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121. ~ qR TICffi ("tft~~) ~ ~ t 126. ~rflB~~~cn8CfiT~ .
(A) 895/N2 (A) V = 2/37rr2
(8) 89.5/N2 (8) V = 3/47rr2
(C) 8.95/N2
(0) 8950/N2 (C) V = 4/37rf

~ ~ ct"1fqRl CfiT~ ~ ~qi("lft("l -?R ~
(0) V = 2/47rr2

122.
~~~~t 127. ~ ~ ~ 11R ~"it ~ lfRCf) ~ ~ 11R

(A) ~f!!"1("1 cfi)<01ctl ~CfiT~ Cflt\ctI("IIt I
(8) ~("1I~c!:1Cflcfi)<01ctI (A) ~<01H("I1
(C) tftc cfi)<01ctI (8) ~~I~~
(0) "3t£-~f!!"1("1 ch1<01ctl (C) ~

SII$RlCfl~ "it-cwfi ~ cnffi f0~~Cffi ~ (0) qIWict CfiTf.t<:n:r123.
Hmur~~~3q¥<1 '4T~3fu: SlI$k1Cfl

128. ~~tfcfi~~~.q~~1:R~cfit
fm~~~~\lfT~t ~t ""
(A) ((CfClI'f)( ~<n~~~3TI.q~~t

(8) ((~{)~ (A) ~ CfiTf.t<:n:r

(C) (((fcH~ct (8) ~ CfiTf.t<:n:r
(0) ((CfC4I%<01( (C) qIWict CfiTf.t<:n:r

124. ~<01iQchI ~~~ 31'Rffi1.q~ (0) ~ CfiTf.t<:n:r

~Gft:q~t .

(A) wen 1/5 h 129. ~ t\1~~TR1Cfl~~~~-CflT~

(8) M <n 3/5 h
~.qcil~ctdlt Cflt\ctleft t I

(A) W:(C) N <n 2/5 h
(0) Yen 4/5 h (8) ~

~ ~ ~ ~t\~'i?i ~ ~ m1:R~
(C) ~

125.
(0) acill~"1~~q;p.f~~, ~~~f.Frn

Gf'Gf 1:R~ ~ Cf)((fT t 3lff: ~ 130. ~<01i~chI~~~~~W~
Cflt\ctI("IIt I ~cn8CfiT~t
(A) f.Frn Gf'Gf ~ (A) W = 1.50 + 5 mm
(8) f.Frn~~ (8) W = 1.50 + 4 mm
(C) ~~~ (C) W = 1.50 + 3 mm
(0) ~~"it~~ (0) W = 1.50 + 2 mm
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131. Find the slope of the line joining points 136. The method assumes that the loss
(2, 5), (4, 6). of the value of a machine is directly
(A) m = 1/3 proportional to its age. It mean that one
(B) m = 1/4 should deduct the scrap value from the

(C) m = 1/2 original value and divide the remaining
value by the number of useful life.

(D) m=5 (A) diminishing balance method
132. The measure of the deformation (B) straight line method

produced by the application of (C) sinking fund
external forces is called (D) annuity changing method
(A) strain
(B) stress 137. The volume of fluid occupied by a unit

(C) elasticity mass or volume per unit mass of a fluid
is called

(D) plasticity (A) Viscosity
133. The ratio of yield stress to the working (B) Specific volume

stress is called (C) Density
(A) Load factor (D) Pascal's law
(B) Working stress

138. Neyveli Power Station in Tamil Nadu is(C) Young's modulus the first power plant in the country used
(D) Factor of safety which type of coal as fuel ?

134. A body is subjected to three mutually (A) Bituminous coal

perpendicular equal direct stresses (B) Anthracitic coal
undergoes volumetric change without (C) Peat coal
distortion of shape is called (D) Lignite coal
(A) Young's modulus

139. The surface area of AO drawing sheet is(B) Bulk modulus
(C) Modulus of rigidity (A) one square meter

(D) Modulus of elasticity (B) two square meter
(C) three square meter

135. A shaft is one which consists of two or (D) half square meter
more shafts made of different materials
rigidly fixed together so that they share 140. The Boyle's law was formulated by
the applied torque is called Robert Boyle in the year
(A) twisted shaft (A) 1662
(B) compelled shaft (B) 1963
(C) composite shaft (C) 1661
(D) competent shaft (D) 1964
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131. ffiG:m (2, 5), (4, 6) CfiT~ crK'ftOO:m 136. ~ fcW:r ~ ~ fcf; ~ ~ cfiT ~ II'"
Cf1T~~cR I ~,~~ifi~Pdw~ljqldl~ I~
(A) m = 1/3 312f~ ir.n ~ fcf; 3'lCI~ 16(;~ CfiT~
(8) m = 1/4 ~ it t:RJCfl{ ~ ~ CfiT3q4'IJ n ~ cfiT
(C) m = 1/2 ~ it 'ql1T:e:Wn ~ I
(0) m=5

(A) ~ RcfiCfl{OI fcW:r
132. ~ ~ ifi 3'ljSllflJ 1IDU ~ ~(C\qol Cf1T (8) mmoofcW:r

l1Tll Cflt:~ldl ~ I (C) ~Hm
(A) ~ (0) qffin q f{CIJOi fcW:r
(8) Slmil~

~ ~ ~~14 H IDU WI TJ<IT~ Cf1T~, n 137.
(C) <n ~ ~ ifi >rRr ~ ~~14H Cf1T~

(11:q~ ~dl
(0) Cfl6Rdi

Cflt:~ldl ~ I
3«11GOiSlmil~ it CflI4~n~ Slmil~ Cf1T (A) ~~Hdl133.

~ Cflt:~ Id 1~ I (8) ~~I6(;~
(A) ~~ (C) ~
(8) CflI4~n~ Slmil~ (0) q 1'€4"l~ Cf1Tf.tW1. .
(C) "WI Cf1TllTG"fCf1

~Cf1T~~~ df?!~"ilill~~138.(0) W&lTCf1T~
~ ~ >fCfiRCf1T~ ~ CWfT ~ ?

134. <iH~~CI(Hf11H~Pd SImil (11ifi ~ (A) fcil&f?!Oi~ eN~ ~ 1
~~ .CfiT~~ ~ qj{Clfdd (8) ~~I~RCfl eN~~1
~~, Cflt:~ldl ~ I (C) "CfR chl~~1. .
(A) "WI Cf1TllTG"fCf1 (0) fB;JJ"iI~C:eN~~1
(8) ~ Cf1TllTG"fCf1

139. AO ~~Cf1T~ ~~(C) ~ llTG"fCf1
(A) ~crTlf0:

(0) (1"I:q~n~dl Cf1T~
(8) c) crt lf0:

135. ~ mqc: ~ N;;r ~ -a crH Gl <n 31fucn (C) <iH crt lf0:

~it f?!~Cfl{~~ 3fu:~~it~~ (0) 3lTm crt lf0:

it ~ ~ ~ >rcfiR fcf; ~ 3'ljSl$JCR1~ ~ 140. ~Cf1Tf.tW1~ ~m~
~~~, Cflt:~ld~ I llWnTJ<IT I
(A) R;:ClRSW'Cfc: (A) 1662
(8) ~W'Cfc: (8) 1963
(C) ~W'Cfc: (C) 1661
(0) Cfli41U W'Cfc: (0) 1964
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141. Maximum mechanical advantage of a 146. The sheet size 210 mm x 297 mm is

lifting machine is designated as
(A) 11m (A) A4
(B) 1-m (B) A2

(C) 1+m (C) A3

(D) m (D) A1

142. The angle between the central plane 147. Which of the following graded pencil is
of tyre and the direction of motion is medium grade?

known as (A) B (B) HB

(A) Slip angle (C) 2B (D) 2H

(B) Included angle 148. Which of the following law states that the
(C) Vertical angle total current flowing towards a junction
(D) Sliding anglelisher point is equal to the total current flowing

away from that junction point ?
143. The function of torque convertor is (A) Ohm's law

similar to that of a (B) Lenz's law
(A) Clutch (C) Kirchhoff's law
(B) Fluid flywheel (D) Faraday's law
(C) Gearbox

(D) Differential 149. Applying external d.c. voltage to any
electronic device is called

144. Usually progressive type of gearboxes (A) rectifier
are employed in (B) ripple
(A) Cars (C) clipper
(B) Trucks (D) biasing
(C) Motor Cycles

150. It states that the current flowing through
(D) Trains any conductor is directly proportional

145. The lead thickness of mechanical clutch to the potential difference between the
two ends of the conductor at constantpencil is
temperature

(A) 0.5mm (A) Charle's law
(B) 0.4 mm

(B) Boyle's law
(C) 0.3mm (C) Ohm's law
(D) 0.6mm (D) Joule's law
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141. ~~~CfiT~~~t

(A) 11m
(8) 1 - m
(C) 1 + m
(0) m

142. CTm:~,~m13frFTffi~fun~~cnT
CfiTur Cf1~R11(11t I
(A) ~CfiTur

(8) fI!Ul k1 (1 CfiTur
(C) ~CfiTur

(0) ;~~lI~rnJ1 ~J 1<1k1!i1(

143. ~ ql{qJCf1 cnT ~ v:cn _
B1lFft I

(A) ~

(8) ~ 1M l~otl<1

(C) M4{iStCR"l1

(0) ~

144. fll14I~(1: Slllm!in<1"5rcfiR~ fTl4{iStcm
___ -q wm: \lfffi ~ I

(A) cnT{

(8) ~

(C) ~ fll~fcn<1

(0) {<1J 1I,g)

145. ~~~~~~t
(A) 0.5 mm
(8) 0.4 mm
(C) 0.3 mm

(0) 0.6 mm
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146. ~ 3lTCfiR210 ftn:ft x 297 ftn:ft _
Cf1~<1I(11t I

(A) A4

(8) A2

(C) A3

(0) A1

147. Rkik1f{g(1 -q ~ ~-m m ~ ll~

~t?
(A) 8 (8) H8

(C) 28 (0) 2H

148. Rkik1f{g(1-q~~-m~~lfcn~

~~~ 3ffi~"QftF~~~
~~~~"Qft¥f~~~matt ?
(A) ~cnT~
(8) ffiT cnT~
(C) fcn;:(Jlf)cnT~

(0) ~cnT~

149. ~ ~~Cf?TRCf1Wcffi lR ~ -ttm CllC"l;Jt
3<ljSl~CR1Cfi8T Cf1t:<11(11t I
(A) R~Cf1I{l
(8) "ffirT

(C) ~
(0) iStl4rnJI

150. ~ (1lq14H lR~ ~~~~,
~~Gl3iaT~~~~~a:T
fl14ljql<fl ~t

(A) ~cnT~

(8) ~cnT~

(C) ~cnT~

(0) ~cnT~
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151. ~~CfiT~~~-q~ 156. RklRif@d -q~ctR-m ~~~

Cflt(1ldl ~ I maT~ ?
(A) 3Wf)R (A) HB
(B) m (8) H
(C) 3lfusrur (C) F
(0) • (0) 28

152. RklRif@d -q~ctR-m~ fit;ft~I<R{~ RklRif@d -q ~ ctR-m ~ ~ ~157.
"Cfl{(IT? 3fR Cfifffi mat ~ ?
(A) -mmlll{ (A) F
(8) SI'I{<tG{ (8) H
(C) it mlll{

(C) 8
(0) ~ (0) ~-q~~~

•
153. ~'llJ41'4d:R=1~CflI{l~ ~ qf{qqq 158. -mmWrnt ~~~~

CfiTer.n mm ~ I f.roR~ Wrnt ~ I
(A) ~~~ (A) 0.3 mtft
(8) itCfl~~ (8) 0.5 mtft
(C) ~~~

(C) 0.2mtft
(0) ~?Ill;ft ~~

(0) 0.7mtft
154. l:fRCfi 3lfusrur ~ 3Wf)R ~

3lfil1l i8!cfil 3lfusrur -q~ 3Wf)R ~ 1:1~~ f.tlIlllR 3lTmfuf ~ I 159.

(A) x: y = 1 : J2 3fR xy = 1 CfiTmm~, -m %T~~I

(8) x: y = 1 : .J3 3fR xy = 1 (A) M3

(C) x: y = 1 : J2 3fR xy = J2 (8) M2

(0) x: y = 2 : J2 3fR xy = 1
(C) M4

(0) M1
155. ~ fit;ft~I'R{-q~~~~CfiT~

~~~ lR~mm~1 160. 3lfusrur CfiT~ ~~~I

(A) '8~ch1ol (A) 3lfusrur 3Wf)R/~ ~3TI 3Wf)R

(8) ~cnlur (8) 3lfusrur 3Wf)R /ern fcfim TJ(IT3Wf)R

(C) ~cnlur (C) 3lfusrur 3Wf)R/*rr fcfim ~3TI 3Wf)R

(0) ~cnlur (0) 3lfusrur. 3Wf)R / q FklfclCfl3Wf)R
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161. ~ dCfl41Cfl:3l00cfiT ~Wntt 166. "A" >rCfiRit ~ ~ ~ 3l&n: cfit ~
(fCfl~~~ I ~~M~I

(A) WrfB <ttT (A) 14B1iR~
(8) ~B~ (8) 16B1iR~

(C) ~B~ (C) 18B1iR~
(0) <ttTBWrf (0) 20B1iR~

162. ~ fci;~;ltna cfiTqFklRlCfl~ <it ~ it 167. AO ~ A 1 3lTCfiRit 3lfusrur ~ ~
~ 3lfusrur 1f'O~ 00 ~ i1il~lG( "@F.ft 3lfusrur ~ ~ mm cfiT~

~~ I ~>rcnT(CfiT~~ ~ (3lTCfiR) ~

(A) ~~ (A) 10 f?n:ft
(8) t:Rm~ (8) 20 f?n:ft
(C) ~~ (C) 30 f?n:ft
(0) ~~ (0) 40 f?n:ft

163. ~~CfiT~5:1~,m~~ 168. ~1f'Oit~m~, ~ l$r~~
~ CfiT>rcnT(~ lR~~)f~~CITffi~ ~

(A) ~~ %gffiF.IT ~ ~ ?
(8) ~~ (A) ~l$r

(C) t:Rm~ (8) 3iR!ftCfd ~ l$r

(0) ~~ (C) dCfl;f)fci;l$r

(0) SI~llflRCfll$r
164. RklRif@d ~B~-m ~1fO~

it~%g~M~? 169. ~1fO~~~mcfit

(A) 420 f?n:ftx 594 f?n:ft ~~
(A) 140 f?n:ft

(8) 210 f?n:ftx 297 f?n:ft
(8) 155 f?n:ft

(C) 594 f?n:ftx 841 f?n:ft
(C) 165 f?n:ft

(0) 841 f?n:ftx 1189 f?n:ft (0) 170 f?n:ft
165. 1fO 3lTCfiT(594 f?n:ftx 841 f?n:ft<it

170. "A" >rcnT(it ~ ~ ~ 3l&R 'M' cfit
~~~I ~fcfKR ~Cfll~ljl cfit~ ?

(A) A1 (A) 6 ~CflI~4i~
(8) A2 (8) 8 ~CflI~4i~
(C) A3 (C) 10 ~CflI~4i~
(0) A4 (0) 9 ~Cfll~i ~
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171. A line made up of a series of long and 177. In order to obtain correct and uniform
short dashes represents height of letters and numerals, guide
(A) Hidden line lines are drawn, using
(B) Cutting plane line (A) H pencil with light pressure
(C) Boundary line (B) 2H pencil with light pressure
(D) Center line (C) HB pencil with light pressure

172. In type - E, the line composed of closely • (D) 2B pencil with light pressure
and evenly spaced short dashes in a

178. In type "A" lettering practice the letter thedrawing represents
(A) hidden edges width of letter oW' will have how many

(B) visible edges units?

(C) hatching (A) 6 units

(D) pitch circle of gears (B) 8 units
(C) 10 units

173. Hatching lines are drawn at how many
(D) 12 unitsdegrees to the reference line?

(A) 30° 179. In lettering practice the space between
(B) 45° lines is
(C) 60° (A) 1/2 h
(D) 90° (B) 1/4 h

174. Which of the following represent (C) 214 h
reducing scale? (D) 3/4 h
(A) 1 : 1 (B) 1 : 2
(C) 5: 1 (D) 10 : 1 180. In lettering practice the space between

the word is
175. Long dashed dotted narrow lines is (A) 2I5h

(A) Dashed narrow line (B) 1/5 h
(B) Continuous line (C) 4/5 h
(C) Cutting plane line

(D) 3/5 h
(D) Center line

181. In the first angle projection, the projection176. In type "A", height of the capital letter is
on VP, the front view is drawndivided into how many parts?
(A) above the XY line(A) 12 equal parts

(B) 8 equal parts (B) below the XY line

(C) 10 equal parts (C) above the X'Y'

(D) 14 equal parts (D) below the X'Y'
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~ 3fR ~ ~HI~II'4')oo3lT ~ ~ IDU 177. 3100 3fR ~ ~ ~ 3fR W1R ~171.
~~oo ~tl >rTl:(f~~ lOIIJTc;~IT~ ~
(A) SI=c<J"i00 wWr IDU"@fT.fi ~ ~ I
(8) cmf.:r0000

(A) ~~~~H~
(C) ~oo

(8) ~~~~2H~
(0) ~oo

(C) ~~~~H8~
172. >fCfiRE ~ 3liWIuT ~ f.?fcR3fR l!\<:fifllOlH -c;U . (0) ~~~m~28~

"CR ~ ~{I~II4) 'B ~ ~ e-,

~~I 178. "A" >fCfiR~ ~ 3l'Rffi1~ 3l~ 'W' ~

(A) SI~~"i~ ~fRR~~?
(8) ~~ (A) 6~
(C) ~

(8) 8~
(0) fTr<roCfiTm~

(C) 10~
173. ~ 00 B ~ fuft "CR ~ mmt"@fT.fi (0) 12~

~%?
(A) 30° (8) 45° 179. ~ 3l'Rffi1~ oo3lT ~ ~ CfiT~ t
(C) 60° (0) 90° (A) 1/2 h

174. R~fflfu!d ~B~-mtR:ill~ (8) 1/4 h

~%? (C) 2/4 h
(A) 1: 1 (8) 1: 2 (0) 3/4 h
(C) 5: 1 (0) 10:1

~ ~{I~II4) RiS,'$d~ Wnt 180. ~ 3l'Rffi1~~ ~ ~ CfiT~ t
175.

(A) 2/5 h
%1

(A) ~{I~II4) ~ 00 (8) 1/5 h

(8) f.ffiR 00 (C) 4/5 h

(C) CfiTG~oo (0) 3/5 h

(0) ~oo
181. ~ Cfi1uT>r~ ~, >r~ VP 1R WIT t, m

176. >fCfiR"A" ~ ~fqC:(13l~ ~ ~ fRR mrn ~~ 'ciF.rr~% 1
~~1ffift% ? (A) XYoo~~
(A) 12~'m1T (8) XYoo~~
(8) 8~'m1T

(C) X,y,~~(C) 10~'m1T
(0) 14 ~'m1T (0) X,y,~~
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182. The sectional committee of Bureau of 186. A polyhedron having one base, with a
Indian standards has recommended number of isosceles triangular faces,
first angle method of projection for meeting at a point called the apex is
technical drawings from the year called as
(A) 1990 (A) Prism
(B) 1991 (B) Frustum
(C) 1992 (C) Pyramid
(D) 1993 (D) Pentagon

183. Below shown the figure illustrates the 187. Horizontal lines on the object are drawn
symbol of which type of angle system at how much angle with the horizontal
of projection ? in the isometric projection?

E3
~

(A) 45°
(B) 15°
(C) 25°
(D) 30°

(A) First angle

(B) Second angle 188. First CAD demonstration is given by
(A) Quicker, USA

(C) Third angle
(B) Henson, Netherland

(D) Fourth angle (C) Charles Babbage

184. The Projections in which the description (D) Ivan Sutherland

of the object is completely understood 189. A line parallel to an isometric axis is
in one view is known as called an isometric line and it is fore
(A) pictorial projection shortened to
(B) orthographic projection (A) 82%

(C) horizontal projection (B) 72%

(D) vertical projection (C) 62%
(D) 52%

185. A polyhedron having two equal ends
called the bases parallel to each other. 190. A three dimensional object having

The two bases are joined by faces, length, breadth, thickness and bounded

which are rectangular in shape is called by surfaces which may be either plane
or curved or combination of two

(A) octagon (A) prism
(B) pentagon (B) polygon
(C) prism (C) pyramid
(D) polygon (D) solid
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182. ~l1HCfl~~~~~~
___ ~ dCfl4)fcF;~ ihgon ~
>r~ ~ ~ CfilurfuRl ~. ~ I
(A) 1990
(8) 1991
(C) 1992
(0) 1993

183. ~~~m-ij>r~~Cfilur~
CfiT~ -~ ~ CfiT~ GW<:n Tf<TI% ?

E3@
(A) ~Cfilur
(8) ~Cfilur

(C) ~Cfilur
(0) ~Cfilur

184. %>r~~~CfiTquf.r~m~-ij
~: ~:f1::r~"'\jIT"BCfiill% Cflt:<11d I % I
(A) Rl51I,J:jCfl>r~
(8) ~<ifchloA4 >r~

(C) ~>r~
(0) ~>r~

185. ~ ~ -ij <TI ~ ~ ~ ~ Cflt:<1ldt
~~~~~J:jHid{~ I~~~~e-,

~t ~. ~14dICflR%, _

Cflt:<1ld~ I

(A) ~

(8) -q:q~

(C) ~

(0) ~
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(A) ~

(8) ~
(C) fCRIMs
(0) ~

187. ~J:jMd)4>r~-ij~lR~~f~
~ m~fcfiB CfilurlR ~ ~ ~ ?
(A) 45°
(8) 15°
(C) 25°
(0) 30°

188. ~CAO~ IDU~Tf<TI I
(A) @:tCfl{, ~~.~.
(8) w.:r 4)G{~s

(C) ~~
(0) ~~G{~s

189. ~ ~J:jMd14 ~~ ~J:jHid{~OO ~J:jf?ld
00 Cflt:<1ldl % 3fu: ~ 31Ft ~ _
Ocfi mer -fcF;m~ % I
(A) 82%
(8) 72%
(C) 62%
(0) 52%

190. ~ 8~414~ ~~chl~, ~, ~
% 3fu: ~ IDU -Rro %, ~ 'fch ~ "41C[$Fi

"41iRt CfiTfi;ql\ll'"i m
(A) ~

(8) ~
(C) fq{IMs
(0) ilB
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191. The type of line that connects an 196. Which of the following line is dimension
annotation to a feature is called line?
(A) brake line (A) continuous thin line
(8) leader line (8) continuous thick line
(C) hidden line (C) dashed line
(D) outline (D) chain line

192. In which type of dimensioning method, 197. In solid edge, all unwanted projecting
the dimensions should 'be placed and inside portions of the objects are
parallel to and above their dimension removed by
lines and preferably at the middle and (A) fillet command
clear of the line? (8) offset command
(A) horizontal method (C) split command
(8) vertical method (D) trim command
(C) unidirectional method
(D) aligned method

198. Which of the following command is
used to connect two objects like pair

193. The ratio of the dimension of the object of apparently intersecting lines, arcs,

shown on the drawing to its actual size circles, curves?

is called (A) Fillet command

(A) Parallel scale (8) Split command

(8) Diagonal scale (C) Stretch command

(C) Representative Fraction (D) Chamfer command

(D) Repeated Fraction 199. The two methods of creating circles

194. The minimum included angle of the
are - circle by center point and
(A) circles by 2 pointsarrowhead barbs is

(A) 12° (8) 14° (8) circles by 4 points

(C) 15° (D) 18° (C) circles by 5 points
(D) circles by 3 points

195. At least how many centimeters of
distance, the dimension line should be 200. In lettering practice for the inclined
placed? letters, how many degree of inclination

(A) 10 -15 mm
to the right of the vertical line?
(A) 14°

(8) 5 -10 mm
(8) 12°

(C) 15-20 mm
(C) 15°

(D) 8 -12 mm (D) 10°
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191. oocnrWfiR~~RaJurcil~~~~
% Cf)t5Z1Id)% I

(A) ~oo
(8) ~oo
(C) SI'i£§~ 00
(0) ~1~jh91

192. ~WfiRit~~-ij~~fcn:rr
oo3TI it ft~Hi(H 3fu:~ W ~ ~ 3fu:
>rT~~~~-ijw~~, oo~~
w~~?
(A) ~~

(8) ~~
(C) l(Cf)R~n""l ~

(0) ~OO~

193. ~-ij~~~cfiTfcn:rr3TI~~
cll«1~Cf) 3TfCfiR cnr~ _
Cf)t5Z1ldI % I
(A) ft~ H id{ fmRT
(8) muff fmRT

(C) SlruPlm ~

(0) ~"\It5{1""l1TFn~

194. cfRCf>~ cRCf> cnr~ d~ ft MR1d 'Cf>luT%
(A) 12° (8) 14°
(C) 15° (0) 18°

195. ~ fiil41c:{ cfiT~ 'tR fcn:rr00 00 ~c-,

~?
(A) 10 -15 mm
(8) 5 -10 mm
(C) 15 - 20 mm

(0) 8 -12 mm

MKG-XXIVITECHINTD/1 T/02

196. PlQR1R9d -ij~~-moofcn:rroo%?
(A) f.Rffi: ~ 00
(8) f.Rffi: l1liT00
(C) ~{1~11«l100
(0) ~oo

197. itB fcRit -ij~~ 3'lq iWd >J~ 3fu:~ it
~'qlTT IDU~~~ I

(A) ~~

(8) ~~

(C) ~~

(0) ~~

198. ~-m ~ GT~3TI ~ Slru~qOi 00,
T.TN, ~, crsnTit ~ cil~ -ijwM
mat % ?
(A) ~~

(8) ~~

(C) $~
(0) ~~

199. ~ar.:rHcfiTGT~~ - ~~IDU~
3fu:
(A) 2 ~3TI IDU~

(8) 4 ~3TI IDU~

(C) 5 ~3TI IDU~

(0) 3 ~3TI IDU~

200. ~31&mit~~ ~-ij,
~ 00 it ~ fcFKr.:fTfuft cnr~ %?
(A) 14°
(8) 12°
(C) 15°
(0) 10°
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SPACE FOR ROUGH WORK

~~~~"f~
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IMPORTANT INSTRUCTIONS TO CANDIDATES
3afla:eU;(1 ~ ~ ¥i ~fq"!!,,i~

13. This booklet contains 40 pages. 13. ~ ~ .q 40 ~ t I

14. Directions: Each question or incomplete 14. ~ : ~ ~ ~ ~ ~ ~ it ~
statement is followed by four alternative 'qR ~ ~ ~ ~ ~ ~ ~ I ~ ~
suggested answers or completions. In each .q ~ M cn1 ~ ~ -.-r:A
case, you are required to select the one that ~ ~ t! ~ cnT<;'1t!1~
correctly answers the question or completes the ~:w.rcrr~ cn1W ~ 3fu: ~ ~ ~.q
statement and blacken (e) appropriate circle ~ lni;?llCflR '&H A, B, C GfT0 cn1-;ftffi GfTcnTffi

A, B, C or 0 by Blue / Black Ball-Point Pen ~-~ iR "B cnTffi (e) CflGT t I (~~Ifuo
againstthe question concerned in the Answer ~lftGcnu ~ ~ ~lffi TT1~~ f&lfqCfl ~
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe) CfiTFIlfcn<:n~)

15. Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.----,

I
I.• I

I' I
I
I
I
I____ ...J

Wrong Method Wrong Method Wrong Method Correct Method

O~OO 0000 O@OO oeoo
The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (e) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (e) more than one circle against
anyone question, the answer will be treated
as wrong.

17. In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

18. Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

19. You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

15. ~ ~ it mtH ~ <ff "Cf)fRl'i5i<:fl'1~ ~

~ m I <ff ~ -w.n ~ ~ ~ Rl'i5if<M ~ I

Rl~if<M q:;8 "Cf)f~ cRtCflT ~ ~ 1lGfTt I

~~~~
~~~~

~cn131'RT~UlI'"ltcfCfl~~it~

~CflGT~ I

16. ~~cnT~~~~~t I ~
~~ ~A, B, C <:ITDit In(1I<:flR'&H

cn1cnTffi (e) CflGTt I ~ 31f11M~ it ~

~ "B ~ lni;?llCflI{ '&H cn1 mrt (e) it 31[qCfif

~ lJffif l1f.1T ~ I

17. ~M~it~(f'm ~ ~.q~
~tit~~cn1~~~~ I

18. ~~it~~~-q;f.q~~~cnT

~ ~ I ~ gf«iCflI-q"{ ~ ~";{ ~ I

19. ~ gffdCflI ~ ~ ~ ~ 3ffifio ~ m- ~ I

~~~~~tT~1
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